Flex Frame 2

TOBACCO FIXTURES - 2/, 3, 4

LOW PROFILE & STANDARD HEIGHT

INTRODUCTION
PAGE 1 INTRODUCTION AND TABLE OF CONTENTS

CARTON CONTENTS

PAGE 2 2' STANDARD HEIGHT TOBACCO FIXTURE
PAGE 2 2' LOW PROFILE TOBACCO FIXTURE
PAGE 3 3' STANDARD HEIGHT TOBACCO FIXTURE
PAGE 3 3' LOW PROFILE TOBACCO FIXTURE
PAGE4  4' STANDARD HEIGHT TOBACCO FIXTURE
PAGE4  4' LOW PROFILE TOBACCO FIXTURE

INITIAL SETUP

PAGES5  WHAT IS NEEDED FOR INSTALLATION
PAGE 6  INSTALLING THE SPACERS

PAGE 7 LEVELING FIXTURES

CONNECTING FIXTURES

PAGE 8 FIXTURE TO FIXTURE ALIGNMENT
PAGE 9 FIXTURE TO FIXTURE CONNECTION
PAGE 10 INTERCONNECTING ELECTRICAL CORDS

SECURING FIXTURES

PAGE 11  GUIDELINES FOR SECURING TOBACCO FIXTURES

PAGE 12  SECURING USING THE WALL BRACKETS
PAGE 13  SECURING USING THE CABLE KIT

SHELVES
PAGE 14 MOVING THE SHELVES

SPRING LOAD TRAYS

INTRODUCTION:

CAREFULLY READ THE CONTENTS OF THESE
INSTRUCTIONS, AS THEY INDICATE THE CORRECT
STEP BY STEP PROCEDURE TO ASSEMBLE THE
PRODUCT. THE CARTON CONTENTS PAGE(S) WILL
IDENTIFY THE ASSEMBLY PARTS. BEFORE
PROCEEDING WITH THE ASSEMBLY PROCESS, MATCH
THE CARTON CONTENTS TO THE STATED CONTENTS
TO ENSURE THERE ARE NO MISSING PARTS. IN THE
EVENT OF ASSEMBLY PROBLEMS OR MISSING PARTS,
PLEASE CONTACT OUR CUSTOMER SERVICE
DEPARTMENT.

PHONE: 1-800-968-6991
WEBSITE: WWW.TOBACCOFIXTURES.COM

THE MANUFACTURER OF THIS DISPLAY
ASSUMES NO LIABILITY FOR INJURY CAUSED
BY IMPROPER ASSEMBLY/INSTALLATION OF
THIS DISPLAY.

PAGE 15 LOADING PRODUCT INTO THE TOBACCO SPRING LOAD TRAYS
PAGE 16  INSTALLING/REMOVING THE TOBACCO SPRING LOAD TRAYS
PAGE 17  ASSEMBLY/DISASSEMBLY OF 5 WIDE TOBACCO SPRING LOAD TRAYS

FINAL INSTALLATION NOTES
PAGE 18  CLEAN UP AND RECYCLE INFORMATION

300000-1S 4/29/2013

PAGE 1 OF 18 arbor industries




Flex Frame 2

TOBACCO FIXTURES - 2/, 3, 4

LOW PROFILE & STANDARD HEIGHT

1C

300000-1S

4/29/2013

1B

1G

1H

PAGE 2

CARTON CONTENTS

2' STANDARD HEIGHT TOBACCO FIXTURE
ITEM # DESCRIPTION QTY
1A 2' STANDARD HEIGHT TOBACCO FIXTURE 1
1C WALL MOUNT BRACKET 2
1D DRYWALL ANCHOR (NOT SHOWN) 2
1E #8 X 2" PAN HEAD SCREW 2
1F #1/4-20 X 3-1/2" BUTTON HEAD CAP SCREW 4
1G #1/4-20 HEX KEPS NUT 4
1H #1/4-20 X 1/2" BUTTON HEAD CAP SCREW 2

CARTON DIMENSIONS: 25-3/4" X 17-3/4" X 90-1/4"

CARTON WEIGHT: 128 LBS.

UNIT WEIGHT: 113 LBS.

2' LOW PROFILE TOBACCO FIXTURE
ITEM # DESCRIPTION QTY
1B 2' LOW PROFILE TOBACCO FIXTURE 1
1C WALL MOUNT BRACKET 2
1D DRYWALL ANCHOR (NOT SHOWN) 2
1E #8 X 2" PAN HEAD SCREW 2
1F #1/4-20 X 3-1/2" BUTTON HEAD CAP SCREW 3
1G #1/4-20 HEX KEPS NUT 3
1H #1/4-20 X 1/2" BUTTON HEAD CAP SCREW 2

CARTON DIMENSIONS: 25-3/4" X 17-3/4" X 60-1/4"

CARTON WEIGHT: 88 LBS.

UNIT WEIGHT: 78 LBS.

OF 18




Flex Frame 2

TOBACCO FIXTURES - 2/, 3, 4

LOW PROFILE & STANDARD HEIGHT

2C

300000-1S

4/29/2013

CARTON CONTENTS

3' STANDARD HEIGHT TOBACCO FIXTURE
ITEM # DESCRIPTION QTY
2A 3' STANDARD HEIGHT TOBACCO FIXTURE 1
2C WALL MOUNT BRACKET 2
2D DRYWALL ANCHOR (NOT SHOWN) 2
2E #8 X 2" PAN HEAD SCREW 2
2F #1/4-20 X 3-1/2" BUTTON HEAD CAP SCREW 4
2G #1/4-20 HEX KEPS NUT 4
2H #1/4-20 X 1/2" BUTTON HEAD CAP SCREW 2
2l 1/4" SPACER 8

CARTON DIMENSIONS: 37-3/4" X 17-3/4" X 90-1/4"
CARTON WEIGHT: 203 LBS.
UNIT WEIGHT: 180 LBS.

3'LOW PROFILE TOBACCO FIXTURE
ITEM # DESCRIPTION QTY
2B 3'LOW PROFILE TOBACCO FIXTURE 1
2C WALL MOUNT BRACKET 2
2D DRYWALL ANCHOR (NOT SHOWN) 2
2E #8 X 2" PAN HEAD SCREW 2
2F #1/4-20 X 3-1/2" BUTTON HEAD CAP SCREW 3
2G #1/4-20 HEX KEPS NUT 3
2H #1/4-20 X 1/2" BUTTON HEAD CAP SCREW 2
2l 1/4" SPACER 6

2H 21

PAGE 3 OF 18

CARTON DIMENSIONS: 37-3/4" X 17-3/4" X 60-1/4"
“’ CARTON WEIGHT: 137 LBS.
@ > UNIT WEIGHT: 121 LBS.




Flex Frame 2

TOBACCO FIXTURES - 2/, 3, 4

LOW PROFILE & STANDARD HEIGHT

3C

300000-1S

4/29/2013

CARTON CONTENTS

4' STANDARD HEIGHT TOBACCO FIXTURE
ITEM # DESCRIPTION QTY
3A 4' STANDARD HEIGHT TOBACCO FIXTURE 1
3C WALL MOUNT BRACKET 2
3D DRYWALL ANCHOR (NOT SHOWN) 2
3E #8 X 2" PAN HEAD SCREW 2
3F #1/4-20 X 3-1/2" BUTTON HEAD CAP SCREW 4
3G #1/4-20 HEX KEPS NUT 4
3H #1/4-20 X 1/2" BUTTON HEAD CAP SCREW 2
3l 1/2" SPACER 8

CARTON DIMENSIONS: 49-3/4" X 17-3/4" X 90-1/4"
CARTON WEIGHT: 262 LBS.
UNIT WEIGHT: 232 LBS.

4' LOW PROFILE TOBACCO FIXTURE
ITEM # DESCRIPTION QTY
3B 4' LOW PROFILE TOBACCO FIXTURE 1
3C WALL MOUNT BRACKET 2
3D DRYWALL ANCHOR (NOT SHOWN) 2
3E #8 X 2" PAN HEAD SCREW 2
3F #1/4-20 X 3-1/2" BUTTON HEAD CAP SCREW 3
3G #1/4-20 HEX KEPS NUT 3
3H #1/4-20 X 1/2" BUTTON HEAD CAP SCREW 2
K] 1/2" SPACER 6

CARTON DIMENSIONS: 49-3/4" X 17-3/4" X 60-1/4"

UNIT WEIGHT: 156 LBS.

W CARTON WEIGHT: 176 LBS.

3H 31

PAGE 4 OF 18




Flex Frame 2

TOBACCO FIXTURES - 2/, 3', 4

LOW PROFILE & STANDARD HEIGHT

WHAT IS NEEDED FOR INSTALLATION

/

<
N
N &

S
\\\ \\
N
\\\ &
N NS NS
! Qe !
S NS
N
, SN

INSTALLATION INSTRUCTIONS

N
D 3
S N
S\ NS
S R
G P S
NS < <.
N N
NS < \\
I N
N N N
N
\\ <
N NS
N
, N

NUMBER OF PEOPLE REQUIRED TO ASSEMBLE UNIT:

(2)

NOTE - TOBACCO FIXTURES ARE AVAILABLE IN SEVERAL DIFFERENT

CONFIGURATIONS. THE TOBACCO FIXTURES SHOWN IN THESE

ASSEMBLY TOOLS REQUIRED:

INSTRUCTIONS MAY VARY FROM THE ACTUAL CONFIGURATION OF THOSE

ORDERED. HOWEVER, INSTALLATION IS SIMILAR FOR ALL SIZES, COLORS,
AND CONFIGURATIONS OF TOBACCO FIXTURES.

CAUTION - ASSEMBLED TOBACCO FIXTURES MAY BE VERY HEAVY. DO NOT

ATTEMPT TO LIFT OR MOVE WITHOUT ASSISTANCE.

300000-1S 4/29/2013

DRILL/DRIVER

PHILLIPS BIT OR SCREWDRIVER

5/32" HEX BIT OR WRENCH

7/16" OR ADJUSTABLE WRENCH

PAGE 5 OF 18

'}L




TOBACCO FIXTURES - 2, 3, 4
Flex Frame 2 LOW PROFILE & STANDARD HEIGHT

INSTALLATION INSTRUCTIONS
KEY SLOTS

3' LOW PROFILE TOBACCO
FIXTURE SHOWN

\

»
1
1
s
7

SPACERS

/ \\/

INSTALLING THE SPACERS

STEP 1- INSTALL THE SPACERS INTO
THE UPRIGHTS OF THE TOBACCO VIEW 1
FIXTURE. (VIEW 2)

NOTE - TO INSTALL, ALIGN THE SPACERS WITH THE KEY SLOTS ON THE
UPRIGHTS AND PUSH UNTIL THEY CLIP INTO PLACE. (VIEW 1)

NOTE - THE QUANTITY AND SIZE OF THE SPACERS IS DIFFERENT FOR EACH
TOBACCO FIXTURE;

2' LOW PROFILE = NO SPACERS
2' STANDARD HEIGHT = NO SPACERS

3' LOW PROFILE = (6) 1/4" SPACERS, (3) EACH SIDE
3' STANDARD HEIGHT = (8) 1/4" SPACERS, (4) EACH SIDE

4' LOW PROFILE = (6) 1/2" SPACERS, (3) EACH SIDE
4' STANDARD HEIGHT = (8) 1/2" SPACERS, (4) EACH SIDE

300000-1S 4/29/2013 PAGE 6 OF 18 harbor industries I




TOBA FIXTURES -2' 3' 4’
Flex Frame 2 OBACCO FIXTURES - 2. 3,

INSTALLATION INSTRUCTIONS

3' LOW PROFILE TOBACCO
FIXTURE SHOWN

LEVELING FIXTURES LEVEL

STEP 2- PLACE THE TOBACCO FIXTURE IN IT'S DESIRED LOCATION,
THEN COMPLETELY LEVEL THE FIXTURE USING THE LEVELERS ON THE
BASE. (VIEW 3 AND VIEW 4)

NOTE - THE 2" AND 3' TOBACCO FIXTURES HAVE (4) LEVELERS. THE 4'
TOBACCO FIXTURE HAS (6) LEVELERS.

WARNING - ALL TOBACCO FIXTURES MUST BE PROPERLY
LEVELED BEFORE CONTINUING INSTALLATION. IF A TOBACCO
FIXTURE IS NOT PROPERLY LEVELED IT MAY BECOME
UNSTABLE.

IMPORTANT - FAILURE TO LEVEL TOBACCO FIXTURES MAY MAKE IT == Ig H ] H i %
MORE DIFFICULT TO INSTALL ACCESSORIES SUCH AS SECURITY -
DOORS, OR ATTACH (2) ADJACENT TOBACCO FIXTURES TOGETHER.

PLUMB

LEVELERS — N /

N - VIEW 4

300000-1S 4/29/2013 PAGE 7 OF 18 - | : }h




LOW PROFILE & STANDARD HEIGHT

TOBACCO FIXTURES - 2/, 3, 4

Flex Frame 2

INSTALLATION INSTRUCTIONS

HEADER
BRACKET

/

TEETH

= : —A\.
AAVANAN
., M .. % .. M ., . -
T./T.//d NN A\ o
SRR AR R ’ >

TOEKICKS

Q% r., / [00]
,,7.,' . n'.,»./ W
\\/ \tiggy gy gy gy g \Y =]
\ig?/ i [ o ol /0 S
/ PR B SEY MY L 4/
./ XY AL A MBI AL AR A
= AN IR IR I I IR )
o Ly \ \ /&7 / \r; g /g /,
W T , g )\ NG
<=2h N7 X7 f57 J5T 57 37 /)]
TaokE N4/ Ny iy il iy
/&\ 8 I IR I TR
,/..&\ Ny | Ny N N
Q| NG | N N SN N
@ iy /L0 L L /4 /
: ‘ 3
i \ , : 3 @]
, & X g s g s Mm =
/ AU a a2 Yamy\ "\ \ ALAL B WL A m W
X \ /» \ A\ \ \ ,‘, /r ,. . I
"u ’ ,/7,,,!/,.7,,,!/.7,,, T)V ) wwn
. I\ V& 7 VTG NI j U j NI j N =10
\ ‘ //&\ ML MEL MBS ) W TN
s VY, / \U/E | NI | T [ Uk ) T N @) & DUm
\ G |\ )\ ) )\ ) N\ g a
4 \ IR T T TG FRSL i <
\7/ iy /iy /iy N o S
% N s oo ol gl s = 9
FR AT L0 187 [T 60 457 -
= \n L Y S SR [ f ™
XY / A IR I T I JRS S
A N IR IR T T
; A/ VI | \NUIE | U I U N
4 MY MY MY MY MY
’A 7, QY DY DY DY DY
w wn
[Fa g ES
I I
O L O w
& o T SO F2T
(&)
S %8 > 5 9Es  wed 25 L&E
& 5 E_L Wz TP o W & o222
=i ) = [ee} =z 5 =EW0n T wn Jx ="
L TFTolOol >-x Ll <z z3dkE ¥ T =G
okl GOSEEYZES MMMRO S2EOC OB ,NIM
| Z POl SCWE Hmmmw g= ESIg
We " 200080 < <90EY hLgposy wog @Tiyo<
Ox—-S9glly 19FO0OQ wWHrFrW? oWl DNxEy
25 LF5228zE wiRara FApT=z Fzz BULE
n wEIX O Hodm oL wOL agmI
- L < = hrt O > = — <
| = [ B P T G I T OloWw << TWwg g i W o W=
L wWFCCL=ES<<0 ZFzux FIzZz=2 I Sn=z0
/ \
/ \
LN \ / O \_H__H__H__H__H__H__H__H__H_ /
E z | H
— | =
> =>

SPACER

_
/ /ﬁDDmmDDDD\
\ /X\ /X\
I~ ___~—

UPRIGHTS

VIEW 7

I€ -'}L

PAGE 8 OF 18

4/29/2013

300000-1S




INSTALLATION INSTRUCTIONS

3 '\ _
\\ A /f W\

\ \ ,
\W7g s \/zg ; \tirgy ; \Vig y \U/g

DY N\ s org orf 2

/ //@ (50 ok /il /i
\ / UGy |\l | U )\ )\l )\

A\f;$2$%§§i§5%§¥

\ //$ 8 18T T I8 IR 1Y/
//&\ NV N ) ) N L
\\#/57d fidl f il Vil /i
\ vl /il ) ik ) i ) il ) N

I G //S g /g [ g [ g Nk
w3 N\ g orgg) il g i
7 N\ i o il i |/
SN NA /%\ ///\\\ R/ .f./\\\ ,./x\\ ,./s\\ 1/
ARDA AN R\ RSO\ K N/
A ,,//i /7/ / y

VIEW 11

FIXTURES SHOWN

v v

3' LOW PROFILE TOBACCO

20

IR I T KT IS 1)
\ / \ A\ W\ \ /
AL\ \ ,y/,//u/z&,, M.,,.//“! N

2 //s\\ i ;i s gy g s N 1/

y ‘\ ‘//&\ TNUIE § ST 1 STl 5l 7 N 7
y /&\ NV NI [ N N S
\ //&\ Nl | iy ) il ) il N

U IR L JEL IR IR Y

//&\ N/ I AL I T A
//&\ O AL AR AL /
//s 0 [ 507 S
y Vg ) NGy ) NYE )

/ﬁ’%ﬂ%ﬂﬁiﬁi%ﬁ
Y/

/ IR I I AL TR
/&\ \UE N1 | N S\ N
Ul | N N N N N

&/ e A 14 L /1 /

LOW PROFILE & STANDARD HEIGHT

TOBACCO FIXTURES - 2/, 3, 4

Flex Frame 2

#1/4-20 x 1/2"

BUTTON HEAD

CAP SCREWS

20 X 3-1/2" BUTTON HEAD CAP SCREWS AND (3) #1/4
#1/4-20 X 3-1/2" BUTTON HEAD CAP SCREWS AND (4) #1/4-20

NOTE - STANDARD HEIGHT TOBACCO FIXTURES WILL USE (4)
HEX KEPS NUTS.

NOTE - LOW PROFILE TOBACCO FIXTURES WILL USE (3)

& 52
L - L I~
2 T oJdF X T o A
K FLoEowo? Fuly X
- wdESm=uw wr¥2: 5= . :
Lz EpRS: B8 cFREa %y - v
olel 2 CEoa¥H Su ko= JE = B
Tﬂ mow, ,—~uvxT Ll FRB%NN 1AD.HS =
1
wol Yyowxzg o VPowX A%m/ ow = W
& 1w XOILoGuwo HCHONSE..I_ x T o 0
22 YELEYosz D82LIPZ¥=z oz= T
RZ R30I cn flZdoIEegxm F09 T >
RO FwWwodo-~wgs HaoO-“oQgWg + E —
WO NITFHFFHFEIL VODFEFEFHFEFoODOI UUM H* T
N O

[e))

=

L

—

>

VIEW 10

PAGE 9 OF 18

4/29/2013

300000-1S




Flex Frame 2

TOBACCO FIXTURES - 2/, 3, 4

LOW PROFILE & STANDARD HEIGHT

INTERCONNECTING ELECTRICAL
CORDS

STEP 6 - PLUG THE AC ELECTRICAL CORD
OF THE FIRST TOBACCO FIXTURE INTO
THE 110V SOURCE OUTLET. (VIEW 12)

STEP 7 - AS ADDITIONAL TOBACCO
FIXTURES ARE CONNECTED TOGETHER
IN A RUN, INTERCONNECT THE
ELECTRICAL CORDS AS NEEDED.
(VIEW 12)

IMPORTANT - A MAXIMUM OF FIVE
TOBACCO FIXTURES MAY BE
INTERCONNECTED TOGETHER.

NOTE - WHEN INTERCONNECTING
TOBACCO FIXTURES ALWAYS USE THE RH
RECEPTACLE ON THE BACK SIDE OF THE
HEADER. (VIEW 12)

NOTE - THE LH RECEPTABLE ON THE
BACK SIDE OF THE HEADER IS FOR
ACCESSORY USE. ONLY 120V 1.5A (MAX)
HARBOR APPROVED POWER SUPPLIES
MAY BE USED. (VIEW 12)

300000-1S 4/29/2013

%

VY

—

e

e

7

24

D

LH RECEPTACLE (ROTATED)
FOR ACCESSORY USE ONLY

//

‘_-
‘ / y

T\

PAGE 10 OF 18

INSTALLATION INSTRUCTIONS

RH RECEPTACLE
FOR INTERCONNECTING
TOBACCO FIXTURES ONLY

VIEW 12

harbor industries I




TOBACCO FIXTURES - 2, 3, 4
Flex Frame 2 LOW PROFILE & STANDARD HEIGHT

GUIDELINES FOR SECURING TOBACCO FIXTURES INSTALLATION INSTRUCTIONS

IT IS IMPORTANT THAT ALL TOBACCO FIXTURES ARE SECURED PROPERLY DURING INSTALLATION. USE THE FOLLOWING GUIDELINES TO
ENSURE THAT NO TOBACCO FIXTURE IS LEFT UNSTABLE;

WARNING - ANY TOBACCO FIXTURE THAT CAN BE ACCESSED BY THE GENERAL PUBLIC MUST BE PROPERLY SECURED IN PLACE
USING THE APPROPRIATE METHOD. UNDER NO CIRCUMSTANCES SHOULD A TOBACCO FIXTURE THAT CAN BE ACCESSED BY THE
GENERAL PUBLIC BE LEFT FREE STANDING, REGARDLESS OF SIZE OR CONFIGURATION.

IMPORTANT - USE AT LEAST TWO WALL MOUNT BRACKETS TO SECURE EACH TOBACCO FIXTURE. SEE PAGE 12 FOR ADDITIONAL
INFORMATION ON INSTALLING THE WALL BRACKETS.

IMPORTANT - ALL TOBACCO FIXTURES SHOULD BE ANCHORED TO A STATIONARY WALL OR OBJECT. IF NECESSARY THE CABLE KIT MAY BE
USED IN CONJUNCTION WITH THE WALL BRACKETS TO SECURE TOBACCO FIXTURES. SEE PAGE 13 FOR ADDITIONAL INFORMATION ON
INSTALLING THE CABLE KIT.

SINGLE LOW PROFILE TOBACCO FIXTURES; SINGLE LOW PROFILE TOBACCO FIXTURES SHOULD BE SECURED IN PLACE USING THE
APPROPRIATE METHOD WHENEVER POSSIBLE. IF NECESSARY A SINGLE LOW PROFILE TOBACCO FIXTURE MAY BE LEFT FREESTANDING IF
ACCESS IS LIMITED TO STORE PERSONNEL.

MULTIPLE LOW PROFILE TOBACCO FIXTURES; MULTIPLE LOW PROFILE TOBACCO FIXTURES IN A RUN MUST BE COMPLETELY CONNECTED TO
ONE ANOTHER. THEY SHOULD ALSO BE SECURED IN PLACE USING THE APPROPRIATE METHOD WHENEVER POSSIBLE. IF NECESSARY, A
CONNECTED RUN OF LOW PROFILE TOBACCO FIXTURES MAY BE LEFT FREESTANDING IF ACCESS IS LIMITED TO STORE PERSONNEL.

SINGLE STANDARD HEIGHT TOBACCO FIXTURES; SINGLE STANDARD HEIGHT TOBACCO FIXTURES MUST BE SECURED IN PLACE USING THE
PROVIDED WALL BRACKETS.

MULTIPLE STANDARD HEIGHT TOBACCO FIXTURES; MULTIPLE STANDARD HEIGHT TOBACCO FIXTURES IN A RUN MUST BE COMPLETELY
CONNECTED TO ONE ANOTHER. THEY MUST ALSO BE SECURED IN PLACE USING THE APPROPRIATE METHOD. IF NECESSARY, A CONNECTED
RUN OF STANDARD HEIGHT TOBACCO FIXTURES MAY BE LEFT FREESTANDING IF THE COMBINED LENGTH OF THE CONNECTED FIXTURES IS 8'
OR GREATER AND ACCESS IS LIMITED TO STORE PERSONNEL.

COMBINED LOW PROFILE AND STANDARD HEIGHT TOBACCO FIXTURES; ANY RUN OF MIXED HEIGHT TOBACCO FIXTURES MUST ALL BE
COMPLETELY CONNECTED TO ONE ANOTHER. THEY MUST ALSO BE SECURED IN PLACE USING THE APPROPRIATE METHOD. IF NECESSARY, A
CONNECTED RUN OF MIXED HEIGHT TOBACCO FIXTURES MAY BE LEFT FREESTANDING IF THE COMBINED LENGTH OF THE CONNECTED
FIXTURES IS 8' OR GREATER AND ACCESS IS LIMITED TO STORE PERSONNEL.

300000-1S 4/29/2013 PAGE 11 OF 18 arbor industries I




TOBACCO FIXTURES - 2, 3, 4
Flex Frame 2 LOW PROFILE & STANDARD HEIGHT

INSTALLATION INSTRUCTIONS

ON THE WALL. (VIEW 13 AND VIEW 14)

_ - __ . _— .
SECURING USING THE WALL BRACKETS ;/ / /
= / q

NOTE - USE AT LEAST TWO WALL MOUNT 4 WIRE GRID
BRACKETS TO SECURE A TOBACCO FIXTURE TO / / >
A WALL. [/
STEP 8 - DETERMINE THE POSITION OF THE Y / / /‘ ) 4 / }
WALL MOUNT BRACKETS ON THE TOBACCO |\ / WALL MOUNT
FIXTURE AND HOOK THEM OVER THE WIRE / / Y / BRACKETS
GRID. MARK THE MOUNTING SCREW LOCATIONS / < / / / / |

1 3K

N

STEP 9 - CHOOSE THE APPROPRIATE METHOD
AND HARDWARE FOR INSTALLING THE WALL

MOUNT BRACKETS. VIEW 13 (BACK SHOWN)

STEP 9A WOOD STUDS - ANCHOR THE UPRIGHT
BRACKETS TO THE WOOD STUDS IN THE WALL —— —m — A
USING ONE #8 X 2" PAN HEAD SCREW PER | WALL MOUNT
BRACKET (PROVIDED). | " BRACKETS
STEP 9B DRYWALL 1/2" OR THICKER - INSTALL L /
THE DRYWALL ANCHORS INTO THE WALL, THEN | ] N
ANCHOR THE BRACKETS TO THE WALL USING | (= | —WALL
#8 X 2" PAN HEAD SCREWS. USE ONE SCREW _ N
AND ONE ANCHOR PER BRACKET (PROVIDED). E[ \

|
STEP 9C ALL OTHER WALL TYPES - USE HIGH ! ‘ "\ APPROPRIATE
STRENGTH FASTENERS APPROPRIATE FOR THE @ MOUNTING
WALL TYPE (NOT PROVIDED). HARDWARE

VIEW 14 (SIDE SHOWN) WIRE GRID

300000-1S 4/29/2013 PAGE 12 OF 18 arbor industries I




Flex Frame 2

TOBACCO FIXTURES - 2/, 3', 4

LOW PROFILE & STANDARD HEIGHT

SECURING USING THE CABLE KIT

NOTE - IF A TOBACCO FIXTURE CAN NOT BE
ATTACHED DIRECTLY TO A WALL, IT CAN BE
ATTACHED TO ANOTHER STAITIONARY OBJECT
USING THE WALL MOUNT BRACKETS AND THE
SUPPLIED CABLE KIT. (VIEW 15)

STEP 10 - TO USE THE CABLE KIT FIRST INSTALL
THE WALL MOUNT BRACKETS IN THE
NECESSARY LOCATIONS, PER THE
INSTRUCTIONS ON PAGE 12.

STEP 11 - USE THE CABLE KIT TO SECURE THE
TOBACCO FIXTURE TO THE WALL MOUNT
BRACKETS. (VIEW 15)

NOTE - WHEN SECURING A TOBACCO FIXTURE
USING THE CABLE KIT USE THE CROSS BRACE
ON THE BACK OF THE TOBACCO FIXTURE AS
THE PREFERED ANCHOR POINT. IF NECESSARY
THE CABLE KITS CAN ALSO BE SECURED TO THE
WIRE GRIDS, BUT ONLY IF THE CROSS RAILS
CAN'T BE USED. (VIEW 16)

300000-1S 4/29/2013

INSTALLATION INSTRUCTIONS

] -
| L][I _—WALL MOUNT
/ BRACKETS
—
©
|
| \\CABLE KIT
L S - I -
VIEW 15 (SIDE SHOWN)
CROSS RAILS

!___ . -

3 EEEEEJEEEEE[JEEEE@ P

| —CROSS RAILS
T

o [ .
[ NN N N NN N N N NN N N |

| O BN

VIEW 16 (BACK SHOWN)

PAGE 13 OF 18 bor indus N




TOBACCO FIXTURES - 2, 3', 4'
Flex Frame 2 LOW PROFILE & STANDARD HEIGHT

INSTALLATION INSTRUCTIONS

SHELF

1
SPRING j SECOND - LIFT THE THIRD - PULL THE
TABS SHELF UPWARDS SHELF FORWARD
TO DISENGAGE UNTIL IT IS OUT OF
! THE SHELF HOOKS THE FIXTURE
! FROM THE UPRIGHT
SHELF — - -
HOOKS il
—
L a
| g
UPRIGHT r 0 lg B —
SLOTS | FIRST - PUSH THE SHELF
L FIRMLY AGAINST THE
UPRIGHTS
VIEW 17 VIEW 18

MOVING THE SHELVES

NOTE - THE SHELVES ARE ATTACHED TO THE UPRIGHTS USING A HOOK AND SLOT ARRANGEMENT. LARGE SPRING TABS ON THE BACK OF
THE SHELVES PROVIDE FORWARD TENSION THAT KEEPS THE HOOKS ENGAGED WITH THE UPRIGHTS, PREVENTING THE ACCIDENTAL
DISLODGING OF THE SHELVES. (VIEW 17)

NOTE - THE UPRIGHT SLOTS ARE SPACED AT 1/2", WITH VISUAL REFERENCE MARKS EVERY 5TH SLOT. (VIEW 17)
STEP 12 - REMOVING A SHELF - FIRST - FIRMLY PUSH THE SHELF IN TOWARDS THE UPRIGHT. (VIEW 18)

SECOND - LIFT THE SHELF UPWARDS WHILE KEEPING PRESSURE ON THE SPRING TABS. (VIEW 18)
THIRD - PULL THE SHELF FORWARD, UNTIL IT IS OUT OF THE TOBACCO FIXTURE. (VIEW 18)

STEP 13 - INSTALLING A SHELF - REVERSE STEP 12 TO INSTALL A SHELF.

300000-1S 4/29/2013 PAGE 14 OF 18 harbor industries I\




TOBACCO FIXTURES - 2, 3, 4
Flex Frame 2 LOW PROFILE & STANDARD HEIGHT

INSTALLATION INSTRUCTIONS

VIEW 19 |

I

LOADING PRODUCT INTO THE TOBACCO SPRING LOAD TRAYS

STEP 14 - PULL OUT THE FIRST TOBACCO SPRING LOAD TRAY AND LOWER THE FRONT END. SLIDE THE PADDLES TO THE BACK
UNTIL THEY LOCK IN PLACE. (VIEW 19)

STEP 15 - LOAD PRODUCT INTO THE TOBACCO SPRING LOAD TRAY.

STEP 16 - LIFT THE PADDLES SLIGHTLY, ALLOWING THEM TO SLIDE FORWARD AGAINST THE PRODUCT. LIFT THE FRONT END
OF THE TOBACCO SPRING LOAD TRAY AND GENTLY SLIDE IT BACK ONTO THE SHELF. (VIEW 20)

STEP 17 - REPEAT AS NEEDED FOR ADDITIONAL TOBACCO SPRING LOAD TRAYS.

STEP 18 - ALIGN THE FRONT EDGES OF THE TOBACCO SPRING LOAD TRAYS ALONG THE SHELVES WHEN DONE.

300000-1S 4/29/2013 PAGE 15 OF 18 arbor industries




TOBACCO FIXTURES - 2, 3, 4
Flex Frame 2 LOW PROFILE & STANDARD HEIGHT

INSTALLATION INSTRUCTIONS

VIEW 22

TRACK
SHOWN

VIEW 21

TOBACCO FIXTURE
SHELVES SHOWN

INSTALLING/REMOVING THE TOBACCO SPRING LOAD TRAYS

STEP 19 - TO INSTALL, ALIGN THE "T's" ON THE BOTTOM OF THE TOBACCO
SPRING LOAD TRAY WITH THE SLOTS IN THE APPROPRIATE TRACK.
(VIEW 22 AND VIEW 23)

VIEW 23

STEP 20 - LOWER THE TOBACCO SPRING LOAD TRAY INTO PLACE, THEN PULL
IT SLIGHTLY FORWARD TO MAKE SURE IT IS ENGAGED WITH THE TRACK AND
IS SITTING PROPERLY ON THE SHELF. (VIEW 21)

BOTTOM SIDE OF 5
WIDE TOBACCO
SPRING LOAD TRAY

NOTE - REVERSE STEPS 19 THROUGH 20 TO REMOVE A TOBACCO SPRING LOAD SHOWN

TRAY.

300000-1S 4/29/2013 PAGE 16 OF 18 harbor industries I




Flex Frame 2 TOBACCO FIXTURES - 2/, 3', 4

LOW PROFILE & STANDARD HEIGHT

INSTALLATION INSTRUCTIONS

5 WIDE TOBACCO
SPRING LOAD
TRAY SHOWN

4 WIDE TOBACCO
SPRING LOAD TRAY

- _ CONNECTOR

VIEW 24 SIGN CHANNEL

UNDERSIDE OF 5 WIDE TOBACCO
SPRING LOAD TRAY SHOWN

1 WIDE TOBACCO

VIEW 25 SPRING LOAD TRAY

ASSEMBLY /DISASSEMBLY OF THE 5 WIDE TOBACCO SPRING LOAD TRAY

STEP 21 - TO ASSEMBLE, POSITION A 4 WIDE TOBACCO SPRING LOAD TRAY AND A 1 WIDE
TOBACCO SPRING LOAD TRAY TOGETHER SIDE BY SIDE SO THAT THE HOLES AND
NOTCHES ALIGN WITH EACH OTHER. (VIEW 25)

STEP 22 - CONNECT THE 2 PARTS TOGETHER USING THE TRAY CONNECTOR. (VIEW 24)

STEP 23 - HOOK THE SIGN CHANNEL ON TO THE FRONT OF THE ASSEMBLED TOBACCO
SPRING LOAD TRAY AND SNAP IT INTO PLACE. (VIEW 24, VIEW 25, AND VIEW 26)

VIEW 26

NOTE - REVERSE STEPS 21 THROUGH 23 TO DISASSEMBLE A 5 WIDE TOBACCO SPRING LOAD TRAY.

-

300000-1S 4/29/2013 PAGE 17 OF 18 harbor industries




LOW PROFILE & STANDARD HEIGHT

TOBACCO FIXTURES - 2/, 3, 4

Flex Frame 2

INSTALLATION INSTRUCTIONS

7 3 7 7 A
(74 /) 7
A A RN N \ A
/ \ / /,_,, / /,, \ .
R ) R
i.ﬁ? !C,/..!/, \ -\

NI
\

\\
A
\

DRNR 3
USST ST ST ST ST ST ST ST v\,
‘,, VI | U NV [ SV U SV NV S S S0l N

AN LT £ 8T 87 L8750 8T 87 f87 50
\ O AL A A AR LB AR AR MBI AT AN

\

/¢\. 2
\

UL [ NUIE [ N ] S ) SR [ SR [Nl ) Ul ) Sl Sl B

\\ \gy/ g [ g/ g/ g/ g [ g/ g/ g ) e N,
//' N PR ML AR AL AL AL AR AL A /
//,&\ N MY AR ALY AEY AL ME MY AL AL

\ « Y& ) NI ) N ) L ) ) N N ) U ) N N\ /

\‘ N 18 1850 18 18 180 1 8 1 e 57
\ - T IR IR IR TR FR IR FEL I IR R ]

S TR IE IR A IR IR IR T IR
ML MBS ALLT ML AEL MELMEL AL )
NI NI | NI N I N NV N N SN N
&/ &/ 7, . & & &/ 4, s, &/ /

NE
S =
>
< o
= =
& O
o O
e on
NI
- =
9 9
= =
g S
- <
o =
| )
el =
o &
Z =
al =
S
MZ
EW
o &

CLEAN UP THE AREA AND RECYCLE/DISCARD

THE PACKING MATERIAL.

U IR IR TR TR TE IR T IR T IR T/
&,&\ 'NVIE | NUIE | TE ) E TR N U8 ) i N\
A AL AR ALY AR AL B AR MBS M)
L AR AR B MBS A AR AR A A AL LT

VIEW 27

PAGE 18 OF 18

4/29/2013

300000-1S




